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BEARRE SHSEEEE BN TE - AETEERLER

£ b B - BIKHE B3 ¥ 2 B ff & # w =
EERE 9, 843, 908
IZE - AEEHER 9, 843, 908
IE - AEEHER 9, 843, 908
BEEALE 9, 559, 238
IE - AEEHER 9, 448, 838
1 IE - AEEHERERD EERME 11.90 38, 640 459, 816
A
2 IE - AEEHAERERQ BLEHE 11.90 755, 380 8,989, 022
A
% - |E 110, 400
3 i - mE (FFE. TR, EHETTH) 1.00 110, 400 110, 400
%
EERE 284, 670
EXARE 89, 890
4 EHERATE 1.00 89, 890 89, 890
=
BERERARE 179, 780
5 BEMERARE 1.00 179, 780 179, 780
=
EBERERE 15, 000
6 £FMERE 1.00 15, 000 15, 000
=




iEx SHSEEES BN TE - AELIERLES
% g & - BARTE Bifg = il ® & i

E R 9,559,238 + 284,670 9,843,908
EEAGE 9,559, 238
EEEE 284, 670
T DR 9,559,238 x 42.86% (30% + (1 — 30%) ) 4,097, 089
EHRIE 9,843,908 + 4,097,089 13,940, 997
—REEES 13,040,997 x 53.85% ( 35% = (1 — 35%) ) — 8,223 7,499,003
ESlid 13,940,997 + 7,499, 003 21,440, 000
HBEREELE 21,440,000 x 10.00% 2,144,000
EHERH 21,440,000 + 2,144,000 23,584, 000




REAR-ET/vr—> SHSEEES BN TE - REERERLER
BHE 1
L IE - AEEAREREBED SEENE 184y
2 # 1BIE - AR B B B f % w =
EEEMNE T (A)
A 0.70 55, 200. 00 38, 640
& it YEZEREDN - 1.00A 38, 640. 00 38, 640
BHE 2
2 IH - AEAREREHQ BURHE EED
2 # 1BIE - AR B B B % w =
1B AR (C)
= 1.00 755, 380. 00 755, 380
& it YEZEREDN - 1.00A 755, 380. 00 755, 380
H#E:3
B B - BE  GETH. DR, Z2EETHE) Ee)
2 # 1BIE - AR B B B f % H =
A AR (A)
A 0.50 55, 200. 00 27,600
RS HER (A)
A 1.00 55, 200. 00 55, 200
E3 L d AR (A)
A 0.50 55, 200. 00 27,600
& 5 YE%8eH - 1.00K 110, 400. 00 110, 400
EE 4
2 EHARE Ee)
2 # 1BIE - AR B B B f % w =
EEARE
= 1.00 89, 890. 00 89, 890
& it YE%8eH - 1.00K 89, 890. 00 89, 890
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SHEEEZENTE - RAEERERER
F5:5
2 EERERARE 1KY
2 o g - BIRTE = v = B ff %8 " =
BERERARE
= 1.00 179, 780. 00 179, 780
& it 1E%8EH : 1.00= 179, 780. 00 179, 780
F5:6
2 EBHRRE 1KY
2 o g - BIRTE L= vd = B ff %8 " =
EBHRRE
= 1.00 15, 000. 00 15, 000
& it 1E%8EH : 1.00= 15, 000. 00 15, 000




